Department of Mathematics and Statistics KFUPM
MATH 201 Quiz 6                           		 Time: 20 min

Name:  ----------------------------------                                   ID: ---------------------------------------------                   

Encircle the correct choice.


Q1: The directions in which the directional derivative of at the point (1,0) has value equal to 1 are given by the unit vectors 
1) 
           
2) 
    
3) 

4) 
   
5) 
 




Q2:  If  then local maximum, local minimum and saddle point(s) of  are 

1) local maximum at (1,1) , local minimum at (-1,-1) and saddle point at (0,0)
2)  local minimum at  (1,1) ,  (-1,-1) and saddle point at (0,0)
3) local maximum at (1,1) , (-1,-1) and saddle point at (0,0)
4) local maximum at (1,1) , (1,-1), local minimum at (-1,-1) , (-1,1) and saddle point at (0,0)
5) local maximum at (-1,-1) , local minimum at (1,1) and saddle point at (0,0)




Q3:  The maximum value of subject to the constraint, is equal to 
(Hint: use Lagrange’s multiplier and then find value of the function at the critical point) 

1) 12/48
2) 17/48
3) 17/144
4) 1/24
5) None of the above
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